Z-%h 2G hniE

B= 100mm T2 3 %R
15mm EH=4ig it

HEk

HEER +/- 3g (EEEHEFIRTNER)
{AEC APK-ME3 IRzh 38 F 1 H ©IREHES

Akribis Systems



>B0 |

AR
O3 —

L

3

n

7]
il

[ShEifs

B SRFE SO H N

ESNHEEDE | DN | D-HbeE

&

R E

Bla g sy

O Bo =

SwasAS sIquY

190

APK &%l

APK2G-XZT100

P #E
S X Hi 28 TH
172 8mm 100 mm 360°
BNES AVA6-8-C54 APZ1-100 APR-14
iSi-2i: vl 12.04N 5.00N 0.0074 Nm
I&(EH S 36.10N 1490 N 0.0185Nm
REDEREL S ABI-2270 ABI-2270 ABI-2250
bayiE SINCOS SINCOS SINCOS
BEEEMREE +3um +3um +70 arcsec
MERH 0.02 kg
R INERE 20 m/s? ‘ 20 m/s? 620 rad/s?
RERE 0.3m/s ‘ 1.2m/s 62 rad/s
THRRE 2kg

R~

383.5

20.0+0.5mm Z-AXIS INDEX POSITION
Z-AXIS STROKE (15.0mm to 115.0mm)

Vacuum Channel

\ [°] o1 l [0]

e

|l ®4.8 h7 THETA SHAFT

(0] ® 8 O
= 00
17.75 -

115.5+0.5mm X-AX

§One-touch Pnematic Fitting
or OD ®4mm Tubing)

271.0
(CABLE LENGTH DATUM)
8.75
0 228.0
220.0
el
=]
E]

4x M4 Captive H
(Included) ‘

&j/ 43.0

X-AXIS STROKE+4.0mm FROM INDEX

Screws

2 x® 4.00 H7 ¥ 4.00

228.0

o6
2240

N—213.0
H——195.0

180.0

4x @ 4.50 THRU \.[| —28.0

6/

coooco
QNN

IS INDEX POSITION

M3x0.57 6.0
VACUUM THETA SHAFT

[ . O S

197.75

[
L

1
15.00 J’

n—=r~m
——

[ —150

0.0




APK2G-XZT50

#E
S
- X-%h Z-%h T-%
1712 8mm 50 mm 360°
BNES AVA6-8-C54 APZ1-50 APR-14
N 12.04N 5.00N 0.0074 Nm
(BN 36.10N 1490N 0.0185Nm
iDL S ABI-2270 ABI-2270 ABI-2250
bayiE SINCOS SINCOS SINCOS
BEEMREE +3um +3um +70 arcsec
MERH 0.02 kg
R INERE 20 m/s? 20 m/s? 620 rad/s?
RERE 0.3m/s 0.8m/s 62 rad/s
THERE 2kg
R~
359.6
Vacuum Channel
$One-touch Pnematic Fitting
orOD @ 4mm Tubing)
271.0
(CABLE LENGTH DATUM)
S 8.75
—228.0 55 228.0
e ol “T——220.0 224.0
[ . oL [0 o] ﬁ 213.0
=]  E—
R “la A 195.0
z q P e 180.0
o E (TTT1
== ©
3 S i
268 )
> S o 4x M4 Captive
w
B e Screws
zZE (Included) o
wn <
IR
ES o
£ E L
]
S Le eor] ERn 2x @ 4.00H7 T 4.00 N — 430
e el X
33 L 4x ¢ 450 THRY | —28.0
- e ° 8.0 Py
m 17.75 ———00 Be” oo
‘ ‘_@4.8 h7 THETA SHAFT 115.5 +0.5mm X-AXIS INDEX POSITION o
X-AXIS STROKE +4.0mm FROMINDEX ~ SR38
aam
M3x0.5 1 6.0
VACUUM THETA SHAFT
6.25
e [t &
197.75

15.00

APK %%l

>B0 |

AR
O3 —

3

J'_'

")
il

[ShEifs

DS ST SO H N

B SO It

ISR | DM-HN JIpRS]uiites

-
Y5k

S|

Be g Uity

o> Bo =g

Akribis Systems

191



BY=B0H

Ll

3

n

7]
il

[ShEifs

s Rl fesnl SN 1S

AN
09—

DHESE | @Bl | DHON | DD

Ba g sy

O Bo =

SWwalsAS sIquY

192

APK &%l

APK2G-ZT100

wE
BHA ZH TH
1718 100 mm 360°
BMES APZ2-100 APR-14
isi-2i: vl 6.40N 0.0074 Nm
(BN 18.90N 0.0185Nm
DR S ABI-2270 ABI-2250
pay’iE SINCOS SINCOS
ESEMREE +£3um +70 arcsec
MEHEH 0.02 kg
REINERE 20 m/s? ‘ 620 rad/s?
RERE 1.2m/s ‘ 62rad/s
THIRE l4kg

R~ E

362.0

Vacuum Channel
#One—touch Pneumatic Fitting
orOD @4mm Tubing)

258.0
(CABLE LENGTH DATUM)

——220.0
— ——212.0
e B fw
. 2x® 45THRU/ /K
= = o
2E *ocle o @ 4.0H7 V 4.0
— o
N M
27 .
52 . P o
[
x5 ° °
N w
x
Eg oo [ ©
=
4
2% o o @ 4.0H7 U 4.0
AN
2 x @ 4.5 THRU
© O
} 8.0
“ o
|
S oo
R @ Sy
— n —~
©4.8 h7 THETA SHAFT — =
‘ 103.0
M3x0.57 6.0
VACUUM THETA SHAFT

A

!

216.0
—205.0

!

n o0 o
~

™



APK &%l

APK2G-ZT50

#iE
Z-5 T-%

1712 50 mm 360°

SIS

BY=B0H

BES APZ2-50 APR-14

RN 6.40N 0.0074 Nm
BN 18.90N 0.0185Nm
RIERES ABI-2270 ABI-2250

il

3

bariES SINCOS SINCOS m
BEEEMREE *+3pum +70 arcsec Eﬂ

N
FEnY, 0.02 kg

=

[

REINERE 20 m/s? ‘ 620 rad/s?

RERE 0.8m/s ‘ 62rad/s
ZE

THIRE 1.3kg

s Rl fesnln ST

AN
03—,

B SO It

R~ E

292.0

H

JIpRS]uiites

Vacuum Channel
(One-touch Pneumatic Fitting
forOD @ 4mm Tubing)

=]

218.0
(CABLE LENGTH DATUM)

IS

—180.0

I ® 172.0
° ®
0 2 x @ 45THRU /‘

@ ® @ 40H7 T 4.0 /7T

0l

e O &
5 SEFERIH

D

=

-
Y5k

S|

@ 40HT T 40 [
2x @ 45THRU N

20.0 +0.5mm Z-AXIS INDEX POSITION
Z-AXIS STROKE (15.0mm to 65.0mm)
[5)
[c]
——
Be g Uity

o> Bo =g

| ——— I
‘ L 8.0 N

<
=)
@A

— SEa g
@ 4.8 h7 THETA SHAFT Eil=
103.0

M3x0.5 V 6.0
VACUUM THETA SHAFT

H@bﬂ T \ 75

150

<
%)
=}
-

1
Akribis Systems

193



APK %%l

APK2G-ZT25

SIS

#iE

Z-5

T-%

BY=B0H

1712

25mm

360°

BENES

APZ2-25

APR-14

RSN

6.40N

0.0074 Nm

(BN

Ll

18.90N

0.0185Nm

RIBERES

ABI-2270

ABI-2250

i3

DR

IS

SINCOS

SINCOS

=

EEEUREE

o

25

+3um

+70arcsec

0.02 kg

20 m/s?

620 rad/s?

0.5m/s

62 rad/s

1.2kg

yRal S fesdine ShtS7

H

Ny

| RYH

IS

5 B i

O>-H &5k

Bla g SRy

DR Skl

SwasAS sIquYY

194

245.0

ads

Vacuum Channel
(One-touch Pneumatic Fitting
forOD @ 4mm Tubing)

186.0

(CABLE LENGTH DATUM)

——148.0

=

Z-AXI% STROKE (15.0mm to 40.0mm)

20.0 +0.5mm Z-AXIS INDEX POSITION

140.0

<
=}
I3}

—
©4.8 7 THETA SHAFT

M3x0.5 V6.0
VACUUM THETA SHAFT

N

103.0

——8.0

}_\
=]

5.0

—103.0

1=

=

&

|

2x @ 45THRU / !

D 4.0H7 V¥ 4.0

@ 4.0HT T 4.0
2 x ¢ 45THRU

DG 144.0
133.0

E’/ﬁ 15.0
o 4.0

QNN
e~ m
— -



APK2G-Z25

=
S 78
1712 25mm
BES APZ2-25
RN 6.40N
[ 31=¢i: ] 18.90N
YRFDERELS ABI-2270
SR SINCOS
BEEEMRE +3um
MERH 0.02 kg
REINERE 20 m/s?
RERE 0.5m/s
THBRE 0.8kg

R~ E

20.0 +0.5mm Z-AXIS INDEX POSITION
Z-AXIS STROKE (15.0mm to 40.0mm)

Vacuum Channel
(Pneumatic Fitting for OD @ 4mm,
ID ®2.5mm Tubing)

4.8 h7 THETA SHAFT,

103.0

M3x0.5 ¥ 6.0
VACUUM THETA SHAFT

94.9

2% @ 4.5THRU
= 1800 L40HT T 40 6 180.0
. SO 1760
[ \_1no Nell — 165.0
(CABLE LENGTH DATUM) :
o [N
o
[}
il
@ 4.0H7 T 4.0
2 x @ 4.5THRU |
> —15.0
R 8.0 | —4.0
L 0 o ¢
oo P
& 0
o~ n oo
n - M~m
— o~
o
- 9

049

T —15.0

APK %%l

BY=B0H

ISk

o

FEHSIHON | &

H

DHION | DHDsE | EESm | 885

5 B Il

-
s

IS

Be g Uit Ay

DR Skl

Akribis Systems

195



BY=B0H

Ll

ISk

o

DPHYE | SEEN | DHON | DHEDEE | SRS | 8SSFHIAFNSIDEON | B

Bla g sy

o> B0

SwalsAS sIquYY

196

APK &%l

X-4e EB AL

T-HhEE AL

ERESE CEiv} AVA6-8-C54 MEESEK (i APR14
= (8)9) @100°C @2 N 12.04 FEE5EEE(80%) @100°C Nm 7.40E-03
s ? N 36.1 I {ERE Nm 1.85E-02
N £10%? N/Arms 14.5 BIBEE £10% Nm/Arms 9.25E-03
REBEH +10%? Vpeak/(m/s) 145 REBHEH +10% Vpeak/rpm 7.91E-04
% @25°C ? N/Sqrt(w) 4.83 Bl E ) @25°C Nm/Sqrt(W) 4.66E-03
tgialeEpE @25°C £10% © Q 9.0 ABiEEE (L-L) @25°C +10% ? Q 2.63
faiEE s £20% mH 4.04 ARIEIERAS (L-L) +20% © mH 0.23
zRatiNETE ms 0.45 BB BYE) H ER ms 0.09
wam(E4) @100°c Arms 0.83 sE(E4) @100°C Arms 0.80
=2l Arms 2.49 [E3G2h Arms 2.00
BoANE(E%) @100°C” w 8.0 BEAE(E4) @100°C® w 3.5
BEEERE °C 100 BRE&ERE °C 100
mregamEs) w/ec 0.107 e ()" w/ec 0.043
BRB&RE Vdc 48 BEBLEE Vdc 48
s Rk 4
giﬂ:ﬂiiiieggi&?‘éﬁﬂiﬂ% B rpm 1000
© RN RAERER, B0.SMITESL,
O RBMEAEIKHz o ‘ i
HIBRERAB AR, BAS TR gﬂrﬁgg; g? i? gﬁéiﬁg%
© BRIMEHEIKHz
K ARE BN T, RSB,
Z-4hER
HEES ==X v APZ1-100 APZ1-50 APZ2-100 APZ2-50 APZ2-25
81 (8)%) @100°C? N 5.0 5.0 6.4 6.4 6.4
(S N 14.9 14.9 18.9 18.9 18.9
HER +10% N/Arms 3.9 3.9 5.0 5.0 5.0
REH M £10% Vpeak/(m/s) 32 32 4.1 4.1 4.1
EBilE % @25°C N/Sqrt(w) 13 15 17 19 22
HEiEIERE (L-L) @25°C £10% 2 Q 6.0 48 6.0 48 36
fEiEE (L-L) £30% © mH 14 11 14 11 08
BB ms 0.23 0.23 0.23 0.23 0.23
Prmm(E4) @100 ® Arms 13 13 13 13 13
g {ER Arms 38 38 38 38 38
FERNEBR) @1oo°c° w 18.7 14.9 18.7 14.9 11.2
RE4AERE °c 100 100 100 100 100
e ()" w/°C 0.25 0.20 0.25 0.20 0.15
REBLBE Vdc 48 48 48 48 48
EHAE A mm 17.1 17.1 17.1 17.1 17.1
[0l N 13,5 13.5 17.2 17.2 17.2
bz

ONBER25°C, BUAT B,

O BENERAERER, &1.0mIRELL,
© BRI 1kHzo
FABRSEAIR I LR, WA BITER.




X,Z- M B £ mbD 28

T-Hhhes% mig=s

APK %%l

1T gFEN (OPN)

EE=H

S ABI-2270 BRI ABI-2250
BiR 5VDC £5% 60mA (52%) iR 5VDC £5% 60mA (524Y)
it 1Vpp, SIN/COS, INDEX it 1Vpp, SIN/COS, INDEX
IERE 0°C E +70°C TIERE 0°C E +70°C
RE 10 E 80% @ RH (FE4E) RE 10 & 80% @ RH (FE¥4E)
E&) (ARE1T) <1000 m/s?, 6ms, ¥ IE3%, 3 % Efh (IFiETT) <1000 m/s?, 6ms, Y2 IE3%, 3 4
#REh (B179) <100 m/s? fK @ 55 Hz to 2000 Hz, 3 % &5 (B179) <100 m/s? fx K @ 55 Hz to 2000 Hz, 3
SeitRAEE 80 um et RAEE 80 um
EMMER % 4 (LPR) 240
572354 14 ppm/°C EMME B

BIKRM 24 ppm/°C

3k

8:MATE-N-LOK (E8#]1) , D-SUB26 HD (4##328)

APK2G-XZT100
APK2G-XZT50
APK2G-ZT100
APK2G-ZT50
APK2G-ZT25
APK2G-Z25

B e

K BHIMEER, A, B R cust-service@akribis-sys.cn.

.........................................

BB

[

yRal S fesdnne ShtS7

i)z

o

IS

5 B Il

-
Rl

IS

Bla g sy

DR Skl

Akribis Systems

197



>B0 |

AR
O3 —

Ll

i3

Y

7]
il

[ShEifs

B S RFE I SO -H N

ESYHEEDE | DN | D-HbeE

&

e E

Bla g SRy

o> Bo =

SwasAS sIquYY

198

APK &%l

APK2G-XZT100 & XZT50 M

BEC 5|fE =5 Thee
Pin 1 X_M1 M1
Pin2 X_M2 M2
6 12
Pin3 Z_M1 M1
Pin4 zZ_M2 M2
@ Pin5 T_M1 M1
Pin6 T_M2 M2
1 7 Pin7 T fEt
Pin8 Tt fitg
Z{4#S: TE Connectivity 770581-1 & 1-770902-1 Pin? o "
E&1FS: TE Connectivity 794199-1 & 1-794226-0 Pin 10 Z_GND PE
EE&Z#H3588: 12P MINI UMNL2 CAP HSG DBLROW Pin 11 T M3 M3
&MINIUMNL PIN 26-22 AWG AU LF
Pin 12 T &
YmiesiEn 5| Fp &5 Thie
Pin1 ez &
Pin2 X_SIN+ SIN+
Pin3 X_COS+ Cos+
Pin4 Z_INDEX+ INDEX+
Pin5 Z_SIN+ SIN+
Pin6 Z_Cos+ cos+
Pin7 T_INDEX+ INDEX+
Pin8 T_SIN+ SIN+
Pin9 T_COS+ Cos+
Pin 10 X_INDEX+ INDEX+
Pin 11 X_INDEX- INDEX-
Pin 12 X_SIN- SIN-
Pin 13 X_COS- cos-
Pin 14 Z_INDEX- INDEX-
Pin 15 Z_SIN- SIN-
Pin 16 Z_COos- Cos-
Pin 17 T_INDEX- INDEX-
Pin 18 T_SIN- SIN-
Pin 19 X_+5V +5V
Pin 20 X_GND GND
BZ&Z4$t83: HIGH DENSITY D SUB, Pin22 Z_GND GND
RECEPTACLE, 26 POSITION FEMALE Pin 23 T 45y +5v
Pin 24 T_GND GND
Pin 25 T fif&
Pin 26 T_COS- Cos-




APK2G-ZT100, ZT50 & ZT25 &

BEO 5| = IhgE
Pin 1 Z_M1 M1
-~ Pin2 Z_M2 M2
A\ -
@@ Pin3 T_M1 M1
@”@ Pin 4 T_M2 M2
@ IO Pin5 T &
Pin6 ik fifi&
1 7 Pin 7 Z_M3 M3
)
Pin 8 Z_GND PE
o Pin 9 T_M3 M3
Z£2: TE Connectivity 770581-1 & 1-770902-1
EZ& 1S TE Connectivity 794199-1 & 1-794226-0 Pin 10 TiEE fiEs
ER&Z{F35488: 12P MINI UMNL2 CAP HSG DBLROW Pin 11 FEfE o
&MINIUMNL PIN 26-22 AWG AU LF
Pin 12 ik &
YmigsiEnO 5| 5 Ihgk
Pin1 ik &
Pin2 Z_SIN+ SIN+
Pin 3 7_COS+ Cos+
Pin 4 T_INDEX+ INDEX+
Pin 5 T_SIN+ SIN+
Pin 6 T_COS+ Cos+
Pin7 TiEE &
Pin 8 TiEE &
Pin9 ik fE&
Pin 10 Z_INDEX+ INDEX+
Pin 11 Z_INDEX- INDEX-
Pin 12 Z_SIN- SIN-
Pin 13 Z_COS- Cos-
Pin 14 T_INDEX- INDEX-
Pin 15 T_SIN- SIN-
Pin 16 T_COS- Cos-
Pin 17 RiEE fig&
Pin 18 RiEE B
Pin 19 Z_+5V +5V
Pin 20 Z_GND GND
Z1F5: Amphenol LT17THDA26P pp— "y ey
EE& 1S Amphenol 10090770-S264ALF
AR &S 435%88: HIGH DENSITY D SUB, Pin 22 T_GND GND
RECEPTACLE, 26 POSITION FEMALE Pin 23 FrEfE e
Pin 24 NiEsE B
Pin 25 NiEsE fE&
Pin 26 T &

APK &%l

BY=B0H

ISk

o

FEHSIHON | &

H

DHION | DHDsE | EESm | 885

5 B Il

-
s

IS

Ba g sy

DR Skl

Akribis Systems

199



B0 H

)
od

Ll

St =Fus

yRal S fesdine ShtS7

H

Ny

IS

5 B i

=

e E

Bla g SRy

DR Skl

SWwasAS sIquYY

200

APK &%l

APK2G-Z25 =1

BHlEO 5B 5 Ik
Pin 1 zZ M1 M1
Pin2 Z M2 M2
Pin3 TiEE it
Pin4 Tl it
Pin5 TiEE &
Pin 6 TiEE &
Pin7 Z M3 M3
Pin 8 Z_GND PE
Z4+: TE Connectivity 770581-1 & 1-770902-1 Pin9 R e
ERA1S: TE Connectivity 794199-1 & 1-794226-0 Pin 10 it it
ERAZF5EA: 12P MINI UMNL2 CAP HSG DBLROW Pin 11 FEfE s
&MINIUMNL PIN 26-22 AWG AU LF
Pin 12 ik &
‘mEgEsIEO 5B &5 Ihee
Pin 1 TR fif&
Pin2 Z_SIN+ SIN+
Pin 3 Z_COoS+ CoS+
Pin 4 TR fiE&
Pin5 TR i
Pin6 TR &
Pin7 Tk fiE&
Pin8 Tk fiE&
Pin9 TiEE it
Pin 10 Z_INDEX+ INDEX+
Pin 11 Z_INDEX- INDEX-
Pin 12 Z_SIN- SIN-
Pin 13 Z_COs- Cos-
Pin 14 TiEE it
Pin 15 TiEE it
Pin 16 TEE it
Pin 17 EE: fig&
Pin 18 ikt &
Pin 19 Z_+5V +5V
Pin 20 Z_GND GND
Z1{$5: Amphenol L7T17THDA26P — — o
EZ& 1S Amphenol 10090770-S264ALF
ER&ZF3588: HIGH DENSITY D SUB, Pin22 TR fitd
RECEPTACLE, 26 POSITION FEMALE Pin 23 T s
Pin 24 T i
Pin 25 T i
Pin 26 ez it




APK &%l

I%E

I

/

APK BBZGKE

HLoER

800.0 mm

RICEOERRY

NIRRT

0.0 (CABLE LENGTH DATUM)

*:

RS

e BB FI4RADES FR LS K EEHRE MEERIETRAY “Cable Length Datum” JUEHT,

SwsAs siqLUY

201



